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Reg. No. ‘ l | ‘ ‘ BE
"V Semester B.C.A.3 Degree Examination, Nov./Dec. 2016

OPERATING SYSTEM
(Fresh. New Syllabus)

Ti'me:SHours o o | 2. d M‘a’x.;-Mark_sf: 80
~ Instruction : Drawthé df&grakﬁéﬁhérévér'né'cé?ssaty.
- ‘ SECTION-A L
. 1)..Answer any ten questic:-ﬁs: S e ' . | (1032;'-"20)

a) What is the need for an operating system ?'Give examplésof afew -
commercially available operating systems.

b) Define the terms CPU scheduling and Throughput.
C) Deﬁné virtualimemory.-'__ ' .

;j) Dist}nguish beMééﬁ a.:j:ab and a process:

€) What are'the benefits of caoper&tihgpracés-s:-?“::v--

f).' Define 'ﬁnutual exclusion. I

g) What-are se'm'aphﬁ.féé ? Menﬁon its types

h) Define fragmentatioﬁ. o L

) Defihe the terms lagicél memory and physical mermry.
) Mention diﬁerénf file aperat'ior]:s.

K) Deﬁne-theierm B__Got.bbckq- S

) Listdifferent approaches to authenticate a user.

P.T.O.
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SECTION-B
1. Answeranyfoty: ~ (UEUCNIES Lo e g g90)
2) List categories of OS service énd‘-expl.ain any two of them in detail.
3) List out advantages and disadvantages of Real time systems.
4) What are process states ?.ExDla'in with state tranéition diagram.. .,
5) What are critical Regions ? Explain with general syntax.

6) Whatis page fault ? Explain‘the procedure of handling page fault with neat

- diagram.
7) Explain variousfile attributes, -, - -1 -
~ SECTION-C
1. Answeranyfbur questionS' o | | (4x10—40) |

8) a) Define and explain various CPU schedulmg cnterla that can be used in
~ selecting a scheduling algorithm; © = 9l S e 5

b) The following table list out the sequence of processes entering the ready‘
queue with their corresponding CPU burst times given in milliseconds.

~ Time quantum fixed is 5 milliseconds time slice.

Process - CPUBursttimein millliseconds
P, 1 20
P5 3, 4

i)' Draw Gantt chart illustrating execution-of these processes using RR
scheduling. _ _

i) Calculate average waiting time. ' , 5
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9) a) What s a dead lock ? o _ 2

b) Consider a system with 5 processes P, through P, and three resources
types X with 4 instances, Y with 5 instances and Z with 6 instances. The
following snap shot of the system has been taken.

Allocation | Max
X Y zZ X Y Z
Po| 0 0 1 P, 1'4 0 4
o o 1 mlo o s
Po| 1 1 2 P, 3 1 3
P, | O 2 1 Py, | 3 3 1
P, 1 0 0 P,| 3 2 0

Using Banker's algﬁrithm answer the following :
) What is the content of available vector ?
ii) What is the content of need matrix 7

iii) Find the safe sequence, if the system is inl-é safe state. | 8

10) a)‘ ExDI_ain the térm§ Firsi fit, best fit, wJorSt fit with example; ER 5
b) Explain with neat.diagram page allocation scheme. . 5
11) DiséuSs different diréctory structures. ' - | 7 10
12) a) Ex’lpl_ain accesé; matriic method for protection of the system. | 5

b) Explain disk formatting and boot block with respect to disk management. 5
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